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61- Would you explain more seriously about the problem, please? No one knows anything, but you have … 
information about that. 
1) little 2) a few 3) lots  4) a lot of 

62- The tourist spoke … English, so it was difficult for us to communicate with him. 
1) very few  2) a few 
3) a little  4) little

63- Before traveling to America, he bought … because he wanted to live there for rest of his life. 
1) five million American dollars  2) five millions American dollar 
3) five millions American dollars 4) five million American dollar 

64- Which sentence is grammatically CORRECT? 
1) There were two hundred red apple in the big box. 
2) Yesterday, the mechanic repaired quickly my car. 
3) My older sister usually helps her friends with their homework. 
4) His wife sent an email him last night.

65- Most studens often invent a/an … for being late for school. 
1) vacation  2) explanation 
3) expression  4) imagination

66- People have already known that CO2 causes a lot of … to the weather and even their own health; but I 
wonder why they don’t use public transportation instead of driving to work every day.   
1) attack  2) harm 
3) disease  4) stress

67- Hannah suffered from severe … and nervousness after she lost her job in the company. 
1) depression  2) relation 
3) discussion  4) experience

68- The scientist told us that this method is … used in modern laboratories and is really old-fashioned. 
1) continuously  2) rarely 
3) generally  4) absolutely

69- The secretary told me that my name had been … spelt, so I had to take another form and fill it in again. 
1) exactly  2) wrongly 
3) certainly  4) fluently

70- My grandfather does exercise regularly in the morning. Although he is over 60, he … perfect well being. 
1) prefers  2) improves 
3) enjoys  4) prevents

Junk food looks so attractive and yummy for the people of every age group. …(71)…, it is actually true that it 
is less nutritional and …(72)… to the body. Most junk foods …(73)… high level of saturated fats, sugar, salt 
and bad cholesterol, which are toxic to the health. Junk food has …(74)… so much popularity because of its 
nice taste and easiness to cook. There are many ready-made junk foods available in the markets packed in the 
plastic bags. Most people depend on such ready-made food because of their …(75)… lifestyle or because they 
do not know how to cook food. 

PART B: Cloze Test 
Directions: Questions 71-75 are related to the following passage. Read the passage and decide which choice (1), (2), (3), or (4) best fits each 
space. Then mark your answer sheet. 
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71- 1) However 2) While 3) Despite 4) When 
72- 1) necessary 2) endangered 3) dangeous 4) balanced 
73- 1) contain 2) decrease 3) check 4) predict 
74- 1) measured 2) used 3) gained 4) prepared 
75- 1) simple 2) effective 3) addictive 4) busy 

More people in the United States have allergies today compared with decades ago. Allergies are bad reactions 
to things around you or what you eat. In 2010, more than half of the Americans were sensitive to at least one 
allergen. That was the finding of one survey done by the National Institutes of Health. Allergens are things that 
set off allergies. Many allergens-such as dust-are found in the air. 

Allergens in the air aren’t the only problem. Kids’ food allergies have risen, too. Between 1997 and 2007, 
the number of kids with food allergies jumped 18 percent. Eating milk products and eggs can give some 
children rashes. Those foods can even cause some people to have trouble breathing. 

What’s behind the spread of allergies? Some scientists think our immune system doesn’t have enough to do. 
Immune system helps our bodies fight germs, but kids today come in contact with fewer germs than their 
grandparents did. That’s in part because more medicine is available. Experts say that when our immune 
system has fewer germs to fight, it can get confused. It attacks other things, such as milk that we drink instead. 

Doctors do not know for sure what’s making allergies increase is, but they know how to treat them with 
medicine. “There is  very good treatment for allergies,” Dr. Nish says, “No one should suffer from symptoms.” 

Dust and other allergens that float into your nose are in for a blast a cough or a sneeze, that is! Both are 
natural reflexes, or responses, to help keep you from getting sick. Let’s have a look at these reflexes: Sneezes start 
at the back of your throat. Each quick burst can force out up to 40,000 droplets of saliva. The tiny droplets travel 
at up to 300 miles per hour. Coughs come out of your lungs. Each blast can push out 3,000 saliva droplets as fast 
as 50 miles per hour. Enough air comes out to almost fill a two-liter bottle. 

76- What is the main idea of the passage? 
1) Allergies are increasing, but simple steps can be taken to deal with them. 
2) Our own human nature has produced more allergies than ever. 
3) Everyday foods have caused a higher proportion of allergies than ever. 
4) Coughs and sneezes are reflexes to allergens.

77- Which of the following best describes the solution proposed in the passage for people who suffer from 
allergies? 
1) Staying away from dust  
2) Stopping eating milk products and eggs 
3) Hiding from anything that cause allergies 
4) Taking medicine to help you with allergy symptoms

78- What does the underlined word “symptoms” in paragraph 4 mean? 
1) Changes in the body that are signs that a person is sick  
2) Changes in temperature that give people allergies 
3) Changes in medicine to treat people when they are sick 
4) Changes in people’s immune system that cause allergies

79- Allergies can affect someone’s everyday life. What evidence can be used from the passage to support this 
statement?
1) “More people in the United States have allergies today compared with decades ago.” 
2) “Allergens in the air aren’t the only problem.” 
3) “Those foods can even cause some people to have trouble breathing.” 
4) “But kids today come in contact with fewer germs than their grandparents did.”

80- What can be concluded from the passage? 
1) A person with allergy is seriously ill and needs to see a doctor.  
2) A person who sneezes and coughs may have allergy. 
3) A person who drinks milk and eats eggs will definitely get allergy. 
4) A person who lives in a place with hot weather will never get allergy.   

PART C: Reading Comprehension 
Directions: In this part of the test, you will read a passage. The passage is followed by five questions. Answer the questions by choosing the 
best choice (1), (2), (3), or (4). Then mark your answer sheet. 
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